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Fg iR Thee P R Thee
1 NF2 KAt 2 7 OUTI i1
2 IN2 N2 8 NC o
3 GND HI B 9 Vee CEN/
4 IN1 A1 10 GND i
5 NF1 &5 11 NC 75
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3. HERFMHE
3.1 RPRSE (Ta=25C)
SELWK iRl BiEE X2
CEM/E NN Vee 30 \Y%
g (BENAED Io (peak) 2 A
Uikt Pp 25 W
TAER Topr -20~75 C
A Tstg -55~150 C
3.2 BFE
FHHEE: Vee=20V, Ri=8Q, Rg=600Q, f=1KHz, Ta=25C
- I AE
& 2ql=] 3 s
TeAR 5 I FE Y L Iecq Vin=0 75 130 mA
i Th & Pout (1) THD=10% 5.0 6.0 W
Pout (2) THD=10% 4.5
AV o B THD Pout=2W 0.1 0.6 %
P % i, s 386 25 Gv Vout=0dBm 32.5 34.0 35.5 dB
T B 4 25 Gvo 60 dB
LN Ry 30 kQ
LU AN L R.R Rg=0,f=100Hz, Vripple=0d | 45 57 dB
Bm
o e RS R Vro Rg=10k 0.14 0.3 mV
Q . BW=20Hz~20kHz
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4.3 EMIEMA
(1) I
P R 8 58 Gv, B8 1 s R1L R2 IRE
GV=20log ((R1+R2) /R2)
=201og ((2X10™+400) /400)

=34dB

K2  Gv>34dB I,
Gv=20log ((R1+R2) [IR3) / (R2IIR3)
R3=400 Q I}, ¥5E

Gv=40dB
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K3 Gv<34dB I,
Gv=20log (R1+R2+R4) / (R2+R4)
5E RA=220 QIN, WE

Gv=30dB

5. SMB R

224102

16.740.2. A

.5 | 15

23.6£0.2

s

Y

| [\

—

a

\
H_lﬂ&\

13.0

M

L o40id
1.421yp | 20050y L 5540

. 11402
[

R

i

11%1,778=(19.558)

B
(9}
p=i
bid
p=i



